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June, 2023

BBCCT-115 : HUMAN PHYSIOLOGY

Time : 3 Hours Maximum Marks : 70

Note : Question No. 1 is compulsory. Attempt any
five questions from Q. No. 2 to Q. No. 8.

Draw diagram wherever necessary.

1. Explain the following terms with suitable

examples : 2:x4=10
(a) Homeostasis

(b) Striated and non-striated muscles

(c) Anticoagulant

(d) Regulation of heart rate
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(a) Explain the mechanism of urine
formation. 6

(b) Describe the constituents of blood plasma
and their functions. 6

(a) Explain cardiac cycle. 6

(b) Illustrate the role of renin-angiotensin
aldosterone system. 6

(a) Give a detailed account of mechanism of
gas exchange between alveoli and tissues. 6

(b) Explain the mechanism of transport of CO2
in blood. 6

Compare the following : 2x6=12

(a) Chromic bronchitis and Asthma

(b) Hypercapnia and Hypocapnia

Write notes on the following : 2x6=12

(a) Secretary functions of gastro-intestinal
tract

(b) Vital metabolic functions of liver

(a) What i1s Spermatogenesis ? Describe the

steps in this process. 6



(b)

(a)

(b)
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Describe the following : 3+3
(1) Blood brain barrier

(11) Blood-cerebrospinal fluid barrier

What are neurotransmitters ? Name any
three neurotransmitters and give their

functions. 6

Describe the functions of different areas of

brain in the ‘Learning process’. 6

P.T.O.
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